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A person and a rooster, etc. - 991 1M TN

OVERVIEW

The X713 cites a X072 that if a dog or a goat broke something while jumping up
they are Mo (from a "1 and 217 only a 1"1 since it is unusual [*"wA7]), if they
broke it while jumping down they are 211 (a w"1); however a person and a rooster
are always 21 (a w"1) whether jumping up or down. nN1©0IN discusses the rule
regarding a person.

nooIN asks:
- 1999M7 DTN VI ) AND ON)

And if you will say; and what novelty is there that by a person he is 2%n
whether he jumped down or jumped up —

N1B0IN answers:
- MAYY 195305 I3 1PN BN *NIMN KPOIT Y YU

And one can say; that there is a difference regarding a case where he appointed

his friend to watch his house,
- 9595 192W% N9¥NY NONRN NI XYY 401915 YW JOP NVIY YIN DY Y

And in the house there was a JupPY TR wAn, so the watchman must take care

that the 1'wn should not jump up and break utensils. This is the explanation
according to >"wI» that >73 275 pay a 11 if they jumped 72¥n7 TR,

mooin offers his explanation of the Xn»12:
— Y995 N9 4‘[9 TP [PNY? 13924 99INY]

[And the >''1 said] because of this difficulty (what is the v17°17 that an 27X is 2717)

the explanation seems to be -
- DIN YNT 5591739 135977 199909 NYYNY AR NYTY 11N 2997 2INPT NNT

That this which the X092 rules, if a dog or a goat jumped up they are =up, it
means they are completely "5 (even from a 1'n) for it is considered an

" There is no 1"n by a person; obviously he pays a w".
% See “Thinking it over’# 1.
?If it is unusual for a person to jump 79vn% 7unon, the 9w would not be liable if the 1"wn jumped up and broke
something (since it never entered his mind that they would do such a thing). Now however that we are taught that it
is common for people to jump up, the W is responsible to watch the 1"wn they should not jump up, and if they did
and broke 0°93 the mW is liable to pay.
* See n"m who interprets the words "1 712’ to mean, since we are discussing a W for a Y'wn.
> This is in contradiction to *"w19 that they are " "o but are 21 a 3'7.
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unpreventable accident -
- 2907 ‘DTN 1PINYRY PIVWN 5915
Therefore it is necessary for the Xn» 21 to inform us that by a person who

jumped up he is 29977 (even though it is an 01X) -
= NNITYA NIYN RN 1IN P1I I8N 192950 DIY P 199109 INT

For if the > 25 who jumped up are = ® (only) from a @''3, but they are 217 a

1''nm, for it is only considered as merely unusual but not an o1x -
- 725501 DTN JOUMYNRY THIVEN SNAN

Why is it necessary to inform us that by an 27K he is 23%7.

mooin offers support to the view of the *":
- P00 x; *pronT XA 99V NN

And it will be properly understood that which the X723 concludes, ‘and what
does °1w2 mean’, etc.

mooIn discusses that X713 according to our X017
= 19909 YNRAN 21N N 09T NN
And there are those whose texts read, ‘if it is so (like "7 maintains that it was

done "11°w >"V), why are they 915?’ mooin explains the question -
- 199909 %Y NN NIPIYNIT

For initially (before "7 established the second "W °"¥ Xn»72), the term >R

was understood -
= nHYNAY VNN M NVNRY NYYNANI VNP Y91I)Y 1PV PNYT RPYDT

For the X713 assumed that 3°792 in the second Xn»72 meant they are completely

191D whether it was TR YYD or ToUNRD TuRDn -
- 1595 \aminb nININ INST

For it is not usual for these animals to jump at all -

% See 9" 'o1n that this means that the W is 27 if the 1"wn jumped up and broke something.
7 There is no rule of 731wn by an O7X to pay 1'1; he always pays a w"1 even if it is 7wn.
¥ See x,23.
’ The xm) cites a second contradictory Xn™ 2 which states that by >3 293 they are always P15 whether they
jumped yn? TunD or N T2YNM. 89D 21 reconciled that this second ®n»M3 is discussing where the jumping was
done in an unusual manner (therefore they are 719), and the &3 concludes (according to the X027 that mM»doIN is
presenting now), ‘and what is meant by 7"7109; that they are 7» from a "1 and 217 a 1'1’. The inference is that only
in the second Xn»12 where it was done 11w *"V is there a 21’17 of 1"1, however in the first Xn»12 (where 75vn% 701
is considered an 01X) 710 means they are completely exempt even from a 1"1.
10 This was the contradiction between the first X112 which maintains that only ¥"n%umn is it considered an 01X, but
not v"nvnon, and the second 8112 which considered it an 01X in both cases.
" However according to *"w5 what is the need to say 191 "1 11108 *&m (and it is certainly not understood why the
'n3 asks 77109 *RAXR 7"'X), since we have always assumed that 17105 means 1"11 P2m W31 PNLD.
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= 1909 ININ NNYYA NIWMN NIN 1INT 799 TaNT »PINT 1% YaN
However, since 2"7 established the Xn™71 in a case where they jumped in an
opposite manner, where it is only merely different (but not completely unusual),
why are they >2n3% 2ws.

TNVUNI N0 MNP H1AYT NID DINT YD PNV 1YY NN RIPONN 295 ONT AN
And it seems to Mo01n that even according to the conclusion (that the second
XN*>12 is in a case of 79 » 70X, nevertheless) in the case of mPwnb qunbn they are
m1up completely for it is considered an ©ux,'? for why should we retract from
our original logic."

SUMMARY
"W maintains that ¥"n0n%n 731 293 are 20 a 11 since it is 71Wn; while MoOIN
maintains that they are *3% M5 since it is an OIIX.

THINKING IT OVER

1. When mooin writes that it is a »n"ps1 regarding a “mw with a 1'wn,'* does 'o1n
mean that the Xn>72 of 27X is discussing this case, or does N190IN mean that the
xn»"1 is discussing a regular 07X, but the relevance 71597 will be by a Mmw?"

2. What are the relative advantages of '01m *"w1D respectively (regarding the
reconciliation of the two Nin>121)?

'2 Moo perhaps needs to assume this, for otherwise "1 did not fully reconcile the two mn> 2. According to the
first X2 by ¥"n2unon it is 3% Mwo; however in the second Xn>»M2a (if we assume the answer at face value) he is
21 a 1"n by v"nunn. [The fact that it is 757 X is no reason why he should be 21 a 1"n when if he is not 5%
797 he is 737 wa!]
" The apparent contradiction between the two mn»1a is only regarding ;s> 7>y where in the first X012 it rules
1211 and in the second Rn>31 it ruled 1"MWwD; however regarding the 7717 nua?n both Mn*13 agree that it is 1w
(since it is an 01X). When 5"1 said the second Xn™M 2 is T5» X so it is A1Ww»n and pays a 1'n he was merely
reconciling the v"n2yn%n cases; that in the first X012 it was done normally (and pays a w"1) and in the second Xn»12
it was done "W "y (and pays a 1"n [and 7709 means 1'1 P2mM W' Pws). However regarding the case of
v"nbunbn it is irrelevant whether it was done 1w >"v or not, for in all cases he is »™13% 7> since it is considered an
o1X. Therefore when the second 8012 writes 710D ¥"1%0n57 121 ©"POYA%A 172, the word 11109 needs to be divided;
regarding v"no¥n7n it means 1"n P2»mM w1 W and in regards ¥"nunon it means 7137 Pwd. [In any event WD
definitely means that they do not pay a w"1.]
1 See footnote # 2.
15 See 73p M 7177 o 2.
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